trés fragoes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
2 1 3 3 1 1
_ X —-F - = —+ — X — =
5 2 5 5 6 2
3 1 3 I 1 1
_ X —-F - = e X —m— - =
2 2 5 3 3 3
1 2 3 1 2 1
_ X _-— - = —_F — X — =
6 5 5 2 5 2
2 1 1 2 1 2
—_F — X — = —+ — X — =
3 2 6 5 2 3

3 I 1 1
40+5+ == -+ =X ==
055%3 6 3 3
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trés fragoes, ordem das operagdes

2. 0. £ 0,
Pontuagao:

Encontro: Data:

W1 N

3 4 301 1 4]
+2="_ Thox—=
55 5762 60
1 3 27 7 111 2
—+t=-=—=1— —X == ==(—=)
275720 20 373 3 %
2 38 1 2 1 7
X———Z(——-) —F - X == —
5 5 U715 27573710
11 3 2 1 2 1
Fox_=" Sy xZ=_
276 4 572737 715
3 4 3 1 11 5
405+ 2= =g St X o=
055+ 5= 5 =83 6 373 18
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